# GRIOLI-TYPE PRECESSION OF A HEAVY RIGID BODY IN A LIQUID $\dagger$ 

N. V. KHLYSTUNOVA

Donetsk<br>e-mail: nat@iamm.ac.donetsk.ru

(Received 12 October 1999)
Grioli-type precession relative to an inclined axis is considered in the problem of the motion of a heavy rigid body in a liquid, described by the Kirchhoff-Clebsch equations with Chaplygin's condition. Conditions for the existence of a solution, corresponding to this class of motions in the case when the body's axes of spin and precession are not perpendicular to one another, are obtained. © 2000 Elsevier Science Ltd. All rights reserved.

Let us assume that a free rigid body, bounded by a simply-connected surface, is moving under the action of a uniform gravitational force field in an unlimited volume of ideal incompressible liquid in irrotational motion and at rest at infinity. In the body there is a symmetrically shaped flywheel, rotating at a constant angular velocity about an axis rigidly attached to the carrier-body. We will also assume that the weight of the liquid displaced by the body is equal to the weight of the body plus the flywheel.

Referring to a system of coordinates $O x_{1} x_{2} x_{3}$ rigidly attached to the body, we introduce an impulsive force $\mathbf{R}=\left(R_{1}, R_{2}, R_{3}\right)$ - the momentum vector of the "gyrostat plus liquid" system, and an impulsive momentum $\mathbf{P}=\left(P_{1}, P_{2}, P_{3}\right)$ - the angular momentum vector of the system about the point $O$. Then the kinetic energy of the system is [1-3]

$$
\begin{equation*}
T=\frac{1}{2} \sum_{i, j=1}^{n}\left(a_{i j} P_{i} P_{j}+b_{i j} R_{i} R_{j}+2 c_{i j} P_{i} R_{j}\right), \quad a_{i j}=a_{j i}, \quad b_{i j}=b_{j i} \tag{1}
\end{equation*}
$$

where $a_{i j}, b_{i j}$ and $c_{i j}$ are constants, which depend on the characteristics of the "gyrostat plus liquid" system. Let $\lambda_{1}, \lambda_{2}$ and $\lambda_{3}$ denote the projections of the gyrostatic moment of the flywheel onto the $x_{i}$ axes, and let $e_{1}, e_{2}$ and $e_{3}$ be constants proportional to the projections onto the $x_{i}$ axes of a radius-vector drawn from the centre of gravity of the volume bounded by the external surface of the body to the centre of mass of the gyrostat. The components of the vectors of translational velocity $\mathbf{u}$ and instantaneous angular velocity $\boldsymbol{\Omega}$ are defined by the relations

$$
\begin{equation*}
u_{i}=\partial T / \partial R_{i}, \quad \Omega_{i}=\partial T / \partial P_{i}, \quad i=1,2,3 \tag{2}
\end{equation*}
$$

Let us assume that the impulsive force $\mathbf{R}$ is directed along the upward vertical. According to wellknown results [1-4], the equations of motion of the "gyrostat plus liquid" system may be written in the form

$$
\begin{gather*}
d P_{1} / d t+\Omega_{2}\left(P_{3}+\lambda_{3}\right)-\Omega_{3}\left(P_{2}+\lambda_{2}\right)+u_{2} R_{3}-u_{3} R_{2}=e_{2} R_{3}-e_{3} R_{2}  \tag{123}\\
d R_{1} / d t+\Omega_{2} R_{3}-\Omega_{3} R_{2}=0 \tag{123}
\end{gather*}
$$

Thus, Eqs (3) and (4) describe inertial motion in an unlimited liquid of a rigid body bounded by a simply connected surface [4]. The symbol (123) means that the other equations are obtained by cyclic permutation of the indices $1,2,3$.
Let $\boldsymbol{\gamma}$ be a fixed unit vector in the immovable space, and let a be a unit vector fixed in the body ( $\dot{\mathbf{a}}=0$ ).

The motion of the body is said to be precessional [5] if the angle $\theta_{0}$ between the vectors a and $\gamma$ remains constant throughout the motion. By definition, the condition for the motion to be precessional may be characterized by the following invariant relation

$$
\mathbf{a} \cdot \boldsymbol{\gamma}=a_{0}, \quad a_{0}=\cos \theta_{0}
$$

Let $\boldsymbol{\nu}$ be a unit vector characterizing the fixed direction in space of the impulsive force $\mathbf{R}=H \boldsymbol{\nu}$ $\left(\mathbf{R}^{2}=H^{2}=\right.$ const). Without loss of generality, we will assume that the vector a points in the direction of the $x_{3}$ axis. We attach an immovable system of coordinates to the vector $\gamma$, introducing the Euler angles $\theta_{0}, \varphi$ and $\psi$, so that

$$
\begin{align*}
& \gamma=\left(a_{0}^{\prime} \sin \varphi, a_{0}^{\prime} \cos \varphi, a_{0}\right), \quad a_{0}^{\prime}=\sin \theta_{0}, \quad c_{0}=\cos \sigma_{0}, \quad b_{0}=\sin \sigma_{0}  \tag{5}\\
& \nu=\left(c_{0}+a_{0}^{\prime} b_{0}^{\prime} \sin \psi\right) \gamma-b_{0}^{\prime} \mathbf{a} \sin \psi-b_{0}^{\prime}(\boldsymbol{\gamma} \times \mathbf{a}) \cos \psi, \quad b_{0}^{\prime}=b_{0} / a_{0}^{\prime}
\end{align*}
$$

where $\sigma_{0}$ is the angle between the vectors $v$ and $\gamma$.
Then the angular velocity of the body can be expressed in the form

$$
\begin{equation*}
\boldsymbol{\Omega}=\dot{\varphi} \mathbf{a}+\dot{\psi} \gamma \tag{6}
\end{equation*}
$$

This relation is the kinematic condition for the motion of a rigid body with a fixed point to be precessional [5].

Suppose the motion of the gyrostat is regular Grioli-type precession about an inclined axis [6]. Then the condition $\dot{\varphi}=\dot{\psi}$ is satisfied. A suitable choice of the fixed system of coordinates will ensure that $\varphi=\psi=m t$, where $m$ is a constant. Then, taking relations (5) and (6) into consideration, we have

$$
\begin{align*}
& \Omega_{1}=m a_{0}^{\prime} \sin \varphi, \quad \Omega_{2}=m a_{0}^{\prime} \cos \varphi, \quad \Omega_{3}=m\left(1+a_{0}\right) \\
& R_{1}=H\left(a_{0}^{\prime} c_{0} \sin \varphi-\frac{b_{0}}{2}\left(1-a_{0}\right)-\frac{b_{0}}{2}\left(1+a_{0}\right) \cos 2 \varphi\right)  \tag{7}\\
& R_{2}=H\left(a_{0}^{\prime} c_{0} \cos \varphi+\frac{b_{0}}{2}\left(1+a_{0}\right) \sin 2 \varphi\right), \quad R_{3}=H\left(a_{0} c_{0}-b_{0} a_{0}^{\prime} \sin \varphi\right)
\end{align*}
$$

It can be verified that Eqs (4) are satisfied identically by relations (7).
On the basis of relations (2), we express the vectors $\mathbf{P}$ and $\mathbf{u}$ in this form

$$
\begin{align*}
& \mathbf{P}=\mathbf{A} \boldsymbol{\Omega}-\mathbf{C R}, \quad \mathbf{u}=\mathbf{C}^{\tau} \boldsymbol{\Omega}+\mathbf{B R} \\
& \mathbf{A}=\left\|A_{i j}\right\|_{1}^{3}=a^{-1}, \quad \mathbf{B}=\left\|B_{i j}\right\|_{1}^{3}=b-c^{\tau} a^{-1} c, \quad \mathbf{C}=\left\|C_{i j}\right\|_{1}^{3}=a^{-1} c  \tag{8}\\
& a=\left\|a_{i j}\right\|_{1}^{3}, \quad b=\left\|b_{i j}\right\|_{1}^{3}, \quad c=\left\|c_{i j}\right\|_{1}^{3}
\end{align*}
$$

Substituting expressions (7) and (8) into the first of Eqs (3) and stipulating that the resulting equality should be an identity in the variable $\varphi$, we find the conditions

$$
\begin{align*}
& B_{22}=B_{11}, \quad B_{12}=0, \quad C_{21}=-C_{12}+\frac{H b_{0}}{2 m} B_{23}, \quad C_{22}=C_{11}-\frac{H b_{0}}{2 m} B_{13} \\
& m^{2}\left(1-a_{0}\right)\left(A_{22}-A_{11}\right)+H^{2} b_{0} c_{0} a_{0} B_{13}-H b_{0} e_{1}-m H b_{0}\left(1-a_{0}\right)\left(C_{13}+C_{31}\right)=0 \\
& H c_{0}\left(1+2 a_{0}\right) B_{23}-e_{2}+m\left(1+a_{0}\right)\left(C_{23}+C_{32}\right)=0  \tag{9}\\
& H^{2} b_{0} c_{0} a_{0} B_{23}-2 m^{2}\left(1-a_{0}\right) A_{12}-H b_{0} e_{2}-m H b_{0}\left(1-a_{0}\right)\left(C_{23}+C_{32}\right)=0 \\
& 1 / 2 H^{2} b_{0}\left(c_{0}^{2}\left(1+a_{0}\right)+a_{0} b_{0}^{2}\right) B_{23}-m^{2}\left(1-a_{0}\right) c_{0} A_{12}+m b_{0} \lambda_{2}+m^{2} b_{0} a_{0} A_{23}=0 \\
& m^{2}\left(1-a_{0}\right) c_{0}\left(A_{11}-A_{22}\right)-1 / 2 H^{2} b_{0}^{3} B_{13}-m b_{0} \lambda_{1}-m^{2} b_{0} a_{0} A_{13}+ \\
& +m H b_{0} c_{0}\left(C_{13}+C_{31}\right)+m H b_{0}^{2} C_{33}=0
\end{align*}
$$

Taking relation (9) into consideration, we substitute expressions (7) and (8) into the second of Eqs (3) and, stipulating that the resulting equality should be an identity in the variable $\varphi$, we find

$$
\begin{align*}
& B_{13}=0, \quad B_{23}=0, \quad A_{12}=0, \quad m\left(A_{22}-A_{11}\right)-H b_{0}\left(C_{13}+C_{31}\right)=0, \quad A_{23}=0 \\
& m a_{0} A_{13}+H b_{0}\left(1-a_{0}\right) C_{11}+H b_{0} a_{0} C_{33}=0  \tag{10}\\
& m b_{0}\left[a_{0} A_{22}-\left(1+a_{0}\right) A_{33}\right]-b_{0} \lambda_{3}+m c_{0}\left(1+a_{0}\right) A_{13}+ \\
& +H b_{0} c_{0}\left[\left(1+2 a_{0}\right) C_{33}-2 a_{0} C_{11}\right]=0
\end{align*}
$$

By (10) we deduce from (9) that

$$
\begin{align*}
& C_{22}=C_{11}, \quad C_{21}=-C_{12}, \quad C_{23}=-C_{32}, \quad e_{1}=e_{2}=0, \quad \lambda_{2}=0 \\
& H a_{0} c_{0}\left(C_{13}+C_{31}\right)+H b_{0} C_{33}-\lambda_{1}-m a_{0} A_{13}=0 \tag{11}
\end{align*}
$$

Using the restrictions obtained on the parameters of problem (10), (11), we substitute expressions (7) and (8) into the third of Eqs (3). The resulting equality will be an identity in the variable $\varphi$ provided that

$$
\begin{align*}
& m^{2}\left(A_{22}-A_{11}\right)+H^{2} b_{0}^{2}\left(B_{11}-B_{33}\right)=0 \\
& m^{2}\left(1+a_{0}\right) A_{13}+H^{2} a_{0} b_{0} c_{0}\left(B_{11}-B_{33}\right)+H b_{0} e_{3}=0 \tag{12}
\end{align*}
$$

Relationships (10)-(12) can be conveniently expressed as follows:

$$
\begin{align*}
& A_{12}=A_{23}=0, \quad B_{22}=B_{11}, \quad B_{12}=B_{13}=B_{23}=0, \quad \lambda_{2}=0 \\
& e_{1}=e_{2}=0, \quad C_{22}=C_{11}, \quad C_{21}=-C_{12}, \quad C_{23}=-C_{32}, \quad \chi_{0}=C_{13}+C_{31} \\
& \chi_{11}=C_{33}+C_{11}+a_{0}\left(C_{33}-C_{11}\right), \quad \chi_{2}=A_{13} \chi_{0}+\left(A_{22}-A_{11}\right)\left(C_{33}-C_{11}\right) \\
& B_{33}=B_{11}+\frac{\chi_{0}^{2}}{A_{22}-A_{11}}, \quad a_{0}=\frac{C_{11}\left(A_{11}-A_{22}\right)}{\chi_{2}}  \tag{13}\\
& m=\frac{H b_{0} \chi_{0}}{A_{22}-A_{11}}, \quad H=\frac{\lambda_{1}}{b_{0} \chi_{1}+c_{0} a_{0} \chi_{0}} \\
& \lambda_{1}=\frac{e_{3}\left(A_{22}-A_{11}\right)^{2}\left(b_{0} \chi_{1}+c_{0} a_{0} \chi_{0}\right)}{\chi_{0}\left[b_{0}\left(\left(A_{22}-A_{11}\right)\left(\chi_{1}-C_{33}\right)-A_{13} \chi_{0}\right)+c_{0} a_{0} \chi_{0}\left(A_{22}-A_{11}\right)\right]} \\
& \frac{b_{0}}{c_{0}}=\frac{a_{0} \lambda_{3} \chi_{0}^{2}-e_{3}\left[\left(1+a_{0}\right) A_{13} \chi_{0}+\left(C_{33}+2 a_{0}\left(C_{33}-C_{11}\right)\right)\left(A_{22}-A_{11}\right)\right]}{e_{3} \chi_{0}\left(a_{0} A_{22}-\left(1+a_{0}\right) A_{33}\right)+\left(1+a_{0}\right) \lambda_{3} A_{13}\left(B_{33}-B_{11}\right)}
\end{align*}
$$

If conditions (13) are satisfied, the motion of the body will be Grioli precession about an inclined axis.
Note that in the case considered the body's axes of spin and precession will not be mutually perpendicular. Setting $a_{0}=0$ in (13), we obtain results established by Rubanovskii [7].

## REFERENCES

1. CHAPLYGIN, S. A., A new particular solution of the problem of the motion of a rigid body in a liquid. In Collected Papers, Vol. 1. Gostekhizdat, Moscow, 1948, pp. 337-346.
2. CHAPLYGIN, S. A, Some cases of the motion of a rigid body in a liquid. First article. In Collected Papers, Vol. 1. Gostekhizdat, Moscow, 1948, pp. 136-193.
3. CHAPLYGIN, S. A., Some cases of the motion of a rigid body in a liquid. Second article. In Collected Papers, Vol. 1. Gostekhizdat, Moscow, 1948, pp. 194-311.
4. KHARLAMOV, P. V., The motion in a liquid of a body bounded by a multiply connected surface. Zh. Prikl. Mekh. Tekh. Fiz., 1963.
5. GORR, G. V., ILYUKHIN, A. A., KOVALEV, A. M. and SAVCHENKO, A. Ya., Non-linear Analysis of the Behaviour of Mechanical Systems, Naukova Dumka, Kiev, 1984.
6. GRIOLI, G., Esistenza e determinazione delle precessioni regolari dinamicamente possibili per un solido pesante assimetrico. Acc. Mat. Pura ed Aplic. Ser. 4, 1947, 26, Fasc. 3/4, 271-281.
7. RUBANOVSKII, V. N., A new particular solution of the equations of motion of a heavy rigid body in a liquid. Prikl. Mat. Mekh., 1985, 49, 2, 212-219.
